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ORIGINAL

&CITY.

SUBSTITUED: ICL
ITE(TO1 )Expression: GIKSYS EQ SYSTEM1 Result: FALSE
ITE(TO1 )Expression: GIKSUB NE SUB1 Result: TRUE
ITE(TO1 )Connecting: FALSE AND TRUE, Result: FALSE
ITE(TO1 )Expression: GIKSYS EQ SYSTEM2 Result: FALSE
ITE(TO1 )Expression: GIKSUB EQ SUB1 Result: FALSE
ITE(TO1 )Connecting: FALSE AND FALSE, Result: FALSE
ITE(TO1 )Expression: GIKSYS NE SYSTEM2 Result: TRUE
ITE(TO1 )Expression: GIKSUB EQ SUB3 Result: FALSE
ITE(TO1 )Connecting: TRUE AND FALSE, Result: FALSE
ITE(TO1 )Connecting: FALSE OR FALSE, Result: FALSE
ITE(TO1 )Connecting: FALSE OR FALSE, Result: FALSE
ITE(TO1 )ITE IF encountered, truth set to FALSE
ITE(TO2 )Expression: TO1 EQ ACC Result: FALSE
ITE(TO2 )ITE IF encountered, truth set to FALSE
ITE(TO2 )ITE ELSE encountered, truth set to TRUE

C1GP2000:

Step STEP2 selected for execution by ITE

STEP STEP2 INVOKING PROGRAM COBOL2
STEP STEP2 PROGRAM COBOL2 COMPLETED, RC=0000

C16P2000:
ITE(TO2 )
ITE(TO1 )
C16P2000:
ITE(TO3 )
ITE(TO3 )

Step STEP2 has completed, RC(0000)

ITE ENDIF encountered, truth set to FALSE
ITE ELSE encountered, truth set to TRUE
step STEP3 selected for execution by ITE
Expression: JCL EQ ICL Result: TRUE

ITE IF encountered, truth set to TRUE

DD DD1 included by ITE
DD DD2 included by ITE
STEP STEP3 INVOKING PROGRAM COBOL3




